Chapter 8, pages 653—-656 1. no; yes 3. no;
no 5. yes;yes 7. (0,4), (2, 3), (4, 2), (6, 1),
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51. y=3x— 3,y =3x — 6; Both slopes are
%, so the lines are parallel. 53. y=3x+%
_1 _ 3.3
55.y—3x+6 57. y 7x+8
9. y=3x+4 6l.y=32x-2
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63. y = 5X 1 65.y yRd)
67.y=—%x 69. y=—-2x+4

71. D = {Mackinac Straits, Humber Estuary,
Golden Gate, Ataturk, Verrazano Narrows},
R = {3800 ft, 4626 ft, 4200 ft, 3524 ft, 4260 ft}
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Answers to Selected Exercises


Ryckie Holm


93. (1, 4); x = 1 95. (-2, - %), -
X 97. (0, 0); 0
99. (0,2);2 101. %

103. 900 105. 21
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109. a. e=km b, L =2
m, ms
1. a. m=k b, L=2
n, n
113. a. ns=k b R
5> K

117. YA 119. 1.8




